Probability Distribution

Probability Distribution - Edexcel Past Exam Questions MARK SCHEME

Question 1: Jan 05 Q4
Question Scheme Marks
Number
(a) k+2k+3k+4k+5k =1
15k =1 Y P =x)=1M
*% I :i:n:
15
cso A1
(2)
(b) 1,2 3
P «4)=P(D)+P(2)+P(3) _E+ E+F sum of 3 probabilities M1
5
=% E_ or %A1
5 13 5
(2)
Question 2: June 05 Q5
(a) k+2k+3k+5k+6k=1 wseof TP(X =x)=1 | MI
17k =1
k=L 00588 Al
17 (2)
Question 3: Jan 07 Q3
Question scheme Marks
number
(a) N.B. Part (a) doesn’t have to be in a table, could be a st P(X=1)= .. .etc | B1, B1, Bl
x 1 2 3 4 5 6
11312121211
PX=x)| 36 | 36 | 36 | 36 | 36 | 36
0.0278,0.0833,0.139,0.194, 0.25, 0.306 (Accept awrt 3 s.f) (3
(b) | P(3)+P(4)+P(5) = %or% or awrt 0.583 M1, Al (2
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Question 4: June 07 Q7

Probability Distribution

Question Scheme Marks
Number
(a) .
=0.30
t (1)
(b) P4 <X <7)=P(5)+P(7) M1
=02+¢=035 ALf
Question 5: Jan 08 Q7
Question Scheme Marks
Number
@ PR3 B ey xlo L MI, Al
4 4 16
(2)
()
3 0 6
2 0 4
All Os Bl
1 0 2 All1.23s Bl
All 4,695 Bl
(3)
0 0 0
B
R 0 2
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Probability Distribution

Question 6: June 09 Q6

3:::;3" Scheme Marks
@ ([0 [1 [2]3 o
3a|l|2a|al|b (1)
(b) a=0.1 . cao | B1
@ |POS<x<3)=P1)+PQ) 3a or their 2a-+their a | M1
=02+0.1
=0.3 Require 0<3a<1 to award follow through | A1 ft
(2)

Question 7: Jan 10 Q5

Question Scheme Marks
Humber
(a) k+4k+9% =1 M1
14 =1
k = i **oiven** cso | Al
14 @)
(b) | P(X22) =1-P(X =1) or P(X=2)+PWX=3) M1
=l=k= E or 0.92857... awrt 0.929 | A1
(a) | M1 for clear attempt to use Z p(x) =1, full expression needed and the “1” must be clearly seen.
This may be seen 1n a table.

Alcso for no incorrect working seen. The sum and “= 17 must be explicitly seen somewhere.

A venfication approach to (a) must show addition for M1 and have a suitable comment e g.
“therefore k = &~ for Al cso

(b) [ M1 for I-P(X < 1) or P(X=2) + P(X=3)
Al for awrt 0.929. Answer only scores 2/2
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Question 8: June 10 Q3

Probability Distribution

Question Scheme Marks
Number
(a)
a= -l or 0.25
3 = Al
(1)
(b) | X>rywhenX=3o0r2,  soprobability="4"+1 M1 A1ft
9
- (3)
Question 9: Jan 11 Q6
%:e:‘:::: Scheme Marks
(@) | k+ 2k+ 3k+ 4k =1 10k=1
k= 0.1 (*) [allow verification with a comment e.g. “so k=0.1"] | Blcso
(1)
(b) Pd1.3)+1>(2.z)=zxo.1xo.3+o.zxo.2=o.1 (*) M1 Alcso
(2)
p 0.01 0.1 0.2 0. 0.24 |[0.16 (2)
(d) | P(2)+P(3)=005 M1A1
(2)
[14]
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Probability Distribution

Question 10: June 11 Q3

%‘:,?:E:? Scheme Marks
= Al
(a) c= 02
(%)
(b) P(3Y+2>8)=P(Y>2) or 1-P(¥Y<1) M1
=b+03+c¢ or l-a =09 Alft
(2)
-
Notes
Correct answers with no (or irrelevant) working score full marks
(b) M1 for rearranging to P(¥ > 2) or 1 - P(¥Y < 1) or selecting cases ¥=2. 3 and 4
Alft for 0.3 + their b+ their ¢ or 1 - their a, provided final answer < 1 and their

values are probabilities.

Question 11: June 11 Q8

%‘:le"fg:? Scheme Marks
(a) 1=p+(0.25+025+40.2+0.2). = p=L or0.1 MI. Al
()
(b) P(Sand5)= (1), = L or0.04 e
(2)
(c) P(4.4.2) = (&) xix3 (=0030r 335) M1 Ml
3 Bl
P(4.4.4) =(1) (=0.008 or )
P(Tom wins in 3 spins) = 0.038 Al
(4)
(d) |P(5n5n5)+P(5n5n5)=4x(1) x2 =0.0640r 3 M1. M1. Al
(3)
17

Notes

(b)

(c)

(d)

M1 for (1)° Condone P(5)xP(5)=0.25x0.25. [Beware 0.4 is A0]

1M1 for (%)2 x4 or 0.01 seen
2™ M1 for multiplying a p’q probability by 3(p, g (0.1) ). B1 for (0.2) or better seen

1 .
1" M1 for 4x(4

2* M1 for multiplying a p*(1—- p) probability by 2. Beware (0.4)°= 0.064 is MOMOAO

2 ) o
) or all cases considered and correct attempt at probabilities.
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